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I Continued analysis and expansion on components of v"’s exegetical sequence:
a 11 (version 1): if a 112 ate DWRY nRYN before T7nT — MY
i Source:v.1-only after n793 may he eat = before 1793, may not eat (nwy 5531 Ran IRY)
ii ~ Challenge (x#37): if there are man for implied 18, no need for v. 2 to be followed by 19581 R nr nR
b 27(version 2): if a 71 eats DWRY nRVN before T"nT — 10 MON
i Reason: v.1 establishes eating for n’1n3 (exclusively) after 7701 (after n193)
C iy 15w wITE mare oINPT
i Version 1: wywin '3 owa MYHR “1: only nnin is indispensible, not nx™p (contra w™)
1 Challenge: 0 nwa X" — 011221 separated before an must rot (if not brought up until after)
(a) Supposition: since N®p is 20yn, inability to do Nx»p (after an) makes Mmxn inoperable
(b) Block: this follows &1 17 n%a — since NR™Mp is impossible here, its omission is 15yn
ii ~ Version 2: 131y 1 (quoted by »or "7) made this ruling (nmn, not nR»p, is 23yn)
1 Challenge: >or "1 asked 13nv "1 at what point 031> may eat 032
(a) Answered: if n®p attaches — at n®p; if not, when they see the “house” (V1pn)
(b) Resolution 1: nRMp/NRMP is W™ (NR*MP) or 13129 (NMIN)
(c) Resolution 2: nmin/nmin is N’ "1 (seeing “house”) or »”ara (nmn)
(i) Amm 77 infers nann from v. 4 - only one mention of nMin = not 15yn
(ii) »7an7. infers nann from vv. 5-6; 2 mentions of NMn (vv. 3-4) > 23YY VHY MV
I Further investigations into parameters of 0’122
a  pny ’7 there is liability for (71, or 103 before nX»1p/nmin) eating 011222 once they see nvan 79 ("w71 — WIpN; D”aM — B-Y)
i Asper:®™'s ruling that if o121 are part inside the city, part outside — inside are fully n*112’3; outside — p>1n
b nww x nmnis indispensible for 0223, not NXRMP
i Suggested source: *ov "1's report in YRYNY’ 1's name re: eating w”yn Nt jn1a inside city
1 Argument: it should be Moy, inferred from nnna 7121
(a) Block: that requires narn
(b) Save: from N2
(c) Block: mnoa require nam 14a% nnin (therefore he relies on the oo —v. 3)
(i) But: he omitted n&»p from his argument
ii  Rejection (»wx "): he still should’ve included nx"p as a mxn
1 Rather: since there are cases where there is no n®p (e.g. 13 per v. 7), he didn’t include it
(a) Noteon 5Nppw? “7's exegesis: why didn’t he use a n1wn T8 of MN23+D7M222?
(i) Answer: they both have narm 7%, which v”yn doesn’t have
(b) Question about sxypw? “7's approach: does he accept n1wWRY NV as eternal or not?
(i) If he does: then 1132 should also be eaten nrn ynra (build a temporary narn on the spot)
(ii) If he doesn’t: he should ask the same question about 1121 (if it was 7111 vnwl before 129N)
1. Answer (x2227): he holds 5"y nwTp RY, but the case is as above, and nT::9wa (juxtaposed)
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a.  Just as: 0T requires n’a, so too W1 NYIR requires n’a
b. And: we compare 7wyn to 131 (v. 3)
i.  Challenge: in ©*w1p, we may not “daisy-chain” a wp’n
ii.  Answer: 9wynis PoHn
iii. Challenge: this only works if the focal point is the Tn% (applied)
iv. But:if it is the Tn%n (source)- it’s still D*w1p, can’t ‘daisy-chain’ the wp’n
v.  Defense: 71 07 are considered one, not a “juxtaposition-chain”
III  Further investigation of nwn — resolution of seeming redundancy of nMNY yin 2w YN
a  Explanation: in’a mwn, eating w"yn which wasn’t redeemed is listed as violation for which moan are given
b Resolution (82217 72 7012 77): "2 MmWwn is re: eating w”yn if it became 8NV — inside walls (requires 11779)
i Question: source for man for eating Xnv VYN
1 Consequence: v. 8 as per w"’s interpretation — whether man or 7wyn is &no
2 Prohibition:
(a) for qun nrMY-Vv.9
(b) For 7wynn nkmvo — vv. 10-11 as per YRynw» "1’s exegesis
ii  Question: how do we know that it may be redeemed?
1 Answer: as per 8"'s application of v. 13 to v. 12
2 Addendum: v.12 could be interpreted as allowing 1178 even one step outside of b-’
(a) Defense: could have used 92% (for 8™) or 501 (for distance); use of nkw allows for both
3 Question asked by n”r. what if he is inside and w”yn is still outside?
(a) Answer (as per »aw73): v. 12 implies that if the produce was outside — may still be n7a3
(b) Question (977): what if he is inside and produce is (outside) at end of stick he’s holding? 1p'n
¢ Tangent: 3nv "1 — there is liability for eating w”yn outside only after it “sees” the walls, as per v. 14, via v. 10
i Challenge: vov "1 ruled that if a 103 takes a fig in 9w, identifies NN, 9”vn and w”yn (or, outside of v, ”yn)
1 And: he eats it — np"» once (for eating Y20 of n"n)
2 But:if he was a 71 — gets 2 sets (for eating nmAn as well)
3 However: if he hadn’t declared anything, would've only gotten one
(a) Implication: if he were outside of D%v1v, would also get mian for v”yn — even though it never “saw” nmn
(i) Defense: if he brought it in and then took it out
1. Rejection: if so, it is too obvious
(ii) Rather: case where he brought it in to 05wy before declaring/identifying n"n

1. As per: position that 1’07 11NV *n3 1MNN RYY MInn — and considered “seen the walls”

2. Challenge: »ov "1 limits n"2/v"a about w"yn that left YW1 (Whether it must be brought back) to
case where it had already had nax%n 7n = (n”23) miann are not considered identified until they
are

3. Answer (727): n¥nn for purposes of “trapping” (nv9p) is 12277 (for n%*IR — from nIN)

a. And: 117 didn’t extend it to situation where it is still Y20

4. Alternatively (X2°37): case where he had it outside at end of stick, but he was inside

a. And: this resolves 9”’s "p>n” case above
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